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Atlempi any five questions.
7 dta T Ao
1. (a) Explain the concept of “Person” & “Assessee”
¢ under the Income Tax Act 1961. ;)

(b) Give exampleé of five incomes which are taxable
under the head “income from other sources”.

(5)

P.T.O.
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{¢) A citizen of USA has been staying in India since
1986. He leaves India on 16-7-08 on a visit to
USA and returns on 4.1.09. Determine his

residential status for the previous year 2008-09.

(5)

(31) s sffas 1961 F 39 “TRA" @ “FEET W
ahereal Y e A

(q) &8 dq o @ e Afde A e wA d I
s @ Jigid & A F

() & USA @1 A wRd ¥ 986  ® W 3 |
16-7-08 H WFH BrEET USA W F@1 2
4-1-2009 & e Aledl 2t od -4 2008 - 09 & fow
Faeht tadia fafa = fRuivn =ifso

2. Mrs. X has the following income during the previous
year 2008-09 ¢

Rs.
(i) Salary 1, 10.000
(i1} Dearness Allowance (forming part
of salary for retirement benefits) 12,000
(iit) Medical Allowance (Actual
expenditure Rs. 4,000) 6,000

{1v) Education Allowance

(for three children) 5,200
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(v) Rent free house in Delhi for which the employer
paid Rs. 5000 p.m. as rent. The house is.
equipped with rented furniture. The rent of theé
furniture is Rs. 300 p-m. ‘

(vi) The employer had provided her a domestic
servant, a sweeper and a watchman. The
employer paid Rs. 200 p.m. to each.

(vii) The employer spent Rs. 2,500 on her refresher
course.

(viii) The employer paid her telephone bills of
Rs. 2200.

(ix) Préfession tax paid by Mrs. X is Rs. 1200.
Compute her salary income for the assessment
year 2009-10. (15)

TGy 2008-09 B ATT HAA vy A P g & -

o ' %o
(i) == 1,10,000
(il) #emg wew (0 Fgfr & @ ¥ wRw) 12,000
(iii) Fafre sw=n (—;mﬁ% =M 4000 T.) 6,000
(iv) fen s (S ==K @ fre) 5,200

(v) Rl ¥ famoan 7k wenr Rrar R so00 = whrme
ﬁﬁwmww:wﬁﬁmﬁ%m

ﬁﬂmr 300 & Wi %n
P.T.0O.
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(vi} Frdieen & 3@ T W A, U W SR TE
TR # g § 1 7w B 200 & gienw
e 7 sprarT T

(vii} Frarer 3 oas foker =9 w 2500 © =@ e
{viir} Fratanr & 3aah Tow fRe 2200 © 9w

(ix)} el v 3 1200 & 941 g & J67 1w e
% 2009- 10 @ faw Sfwdt vaw ) A9 @ s @
woE i

3 ltollowing are the particulars of house properties of
Ms. Samcer for the previous year 2008-09. Compute

his income from house property.

Houwse A House B

R, Rs.

Annual Rental Value 30,000 12,000
Mumcipal Valuation 25,000 12.000
Municipal Tax 2,500 [.200
Actus! Repair Expenses 2,000 2,000
[ntercst on money borrowed

to renovate the building 1.200 —
[nsurance Premium 260 175
Ground Rent ts0 100
Vacancy period 3 months -

Rent Collection charges 1.000 600
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"5
Both the above houses were let out for residential
purposes. Insurance premium of House A and Ground
Rent of House B are still outstanding. Repair expenses

of the house A and municipal tax of house B were
paid by the tenants. (15)

' ﬁﬁa&zoos-ma‘»ﬁ—waﬂt@muﬁmmﬁw

TR @ | I WEE qOE Q3 R I i -

¥HH ‘A WEE q

- . , To %o

9w = | 30,000 12,000
A T _ 25000 12,000
N T 2,500 1,200
aIfE woea =g 2,000 2,000
VR R TR 3 W W e 1,200 —
o fhwa 200 175
Wi T - 150 100
el @ W iy 3w —
o aget = ‘ 1000 600

A & v Red Rew A e ® IR W | e
W W G A e T W wf e et sew
21 W F R OO I T WS T TR
wY FoReR B g Ty -

P.T.O.
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4 Write short note on the following :
(a) Eapenditure on scientific research (Sec. 35)

(b} Amortisation of Preliminary Expenses (Section

35D) (15)
ffafae w @9 oo fofaw
(3) dmfier sFEe W =E (UR 35)
(@) aifas =@t w1 seEd (anm 3s5D)

5. During the previous year 2008-09. Mr. Ramesh sells

the following capital assets .

Assets Sale Cost of Year of Value
Proceeds Acquisition  Acyuisition  as on
1.4.1981
(Rs.} (R} {Rs.)
[and [68.00,000  18.30.000 1977 28,00.000
Crold 11,886,000 2.40.000 1980 241,000
Listed debenture 1,357,000 75.000 1975 40.000

Assuming that his busincss income is Rs. 1,46,000,
determine his net income for the assessment year
2009-10. (15)
@ &t 2008-09 B ST fmey W A B qote dafen

Bl
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LRI g JftnrEw Ffewser - 1.4.981
o™ Eolc DG WA w
P () (ve)
& 1,68,00,000 18,50,000 1977 28,00,000
- 11,86,000 2,40,000 1980 2,41,000,
fifcs smoea 157000 75,000 1975 40,000

u® AR 7Y B I8 2w ¥ 309 1,46,000 To ® W P
af 2009-10 & forv SEEt g s A e SR

;S. What are the provisions of Income tax Act regarding — -
(i) Encashment of earned leave
(i) Pension . {15)
Frafafea = il ¥ smet & T gEue & 7
(i) sfsk s = SHdT
(ii) ¥

7. Following is the Profit & Loss Account of a firm for
the year ended 31.3.2009.

Rs. ‘ Rs.

Expenses - . 83,000 Receipts from clients 60,000

Depreciation 32,000 Audit fees 72,000

" Remuneration Net loss 68,000
to partners 75,000
interest on capital |

to partners 5,000 ,

2,00,000 _2,00,000

A P.T.O.
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Other information :

(i) Out of expenses of Rs. 88,000, Rs. 17,250 is

not deductible under section 36 and 37.
(ii) Depreciation as per section 32 is Rs. 33,100,

(1ii} Interest on capital 1o partners, not deductible
under section 40{b) is Ry, 700,

Compute the remuncration deductible. (13

31.3.2009 @ @A B ot 99 & e vw wd @ aw -

@ s oy 2 -

[ o
@ 88,000 WaET ¥ wifty 60,000
A 32 000 3THE Wi 72,000
@Enl & AR 75,000 IF w6 68,000
e & au
W 5,000
200,000 2,00 000
= g

(i) 88,000 %o & 1N ¥ ¥ 17,250 To & =W U7 36
wd 37 & Fada weiE A T8 R

(i) UM 32 & AN @ # W - 33,100 %o 2|
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(iii) wm do(b) B T WA B wRshE B W 700 o
w2 A G

T A P P

8. Exp]ain the provisions of clubbing and aggregation of
income under the Income Tax Act 1961. {15)

l'mml%la‘.mm%mﬁmﬁm

mWﬁmﬁqu

9. (a) Explain the provisions regarding carry forward
and self off of speculation loss under the Income
Tax Act 1961. . (D)

(b) Explain the deduction given under Sec. 80 C of
Income Tax Act 1961, - (8)

(&) swE FRFE 1961 B F0T w7 BB wEE @
TS G TR B W |

()ms@ﬁwmlaﬁmsoc%aﬁ#aﬁaﬁmﬁt
Tt Tl IuGtl B WA

(300)****



